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04 JIAHZ2RSE 4 16,784 12,975 3,809
CESI=NC]=E 16,784
RIEE] 53, 16021 x32x82! 12 15,311
Roloiz s L2 15,311,002 %4.5% 689
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AlHI 1,872
2| 1,872
05 I2t9IEt 2 3,744 3,744 0
Osofol HaHotd 22 X 3,744,000 3,744
AlHI 1,872
2| 1,872
s2s=s 600 4,500 A3,900
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A IS
M =MBACA FA
ool IS 2 XA (et & 2
N B e2(3H) - HRAY - BES Lo e DS
04 12N 22 NHEsSE+ 87,416 43,806 43,610
Oz & 87,416
el 24| 45,0003 7 200 63,000
SRS 5,000& »1E*200 1,000
=X 45,0003 7 =40 12,600
- Xt 45,000 x7E*10 3,150
=028 RBE= 79,750,000& *4. 5% 3,589
NELSE BE= 79,750,000 *1.4% 1,117
MEE R8s 79,750,000& *0.705% 563
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ORHIHA S+ =2 M2 30,0003 30 900
02 2244 6,900 3,600 3,300
Ol dll= 6,900, 000& 6,900
206 T 2 bl 11,900 11,900 0
01 MHZ 4l 11,900 11,900 0
ORHg3a XA =+ 5,200
2 2 4,500& *1,000= 4,500
A=Fs 2 5003 *1,000= 500
AP IRl 200,000& 200
OAlSUE#AL THE 7L 6,700
2= 6,000& *1,000= 6,000
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SN BHAED
Hu: MR T4

ol ARl (==L
_ _ _ N E
SN -G (BH) - NEAY - BES Off At Gil it o Hm=2
e 50021 *1,000% 500
- X 200,0002 200
401 AlIEHI L2 THH] 5,000 5,000 0
01 Al&H 5,000 5,000 0
Oatel QIF Zed} ol B2 HMHZAF
5,000,0002 5,000
AFEE AR 437,922 0 437,922
= 306,545
AlHI 39,413
2| 91,964
401 Al EHIZ 2 THH] 437,922 0 437,922
= 306,545
AlHI 39,413
24| 91,964
01 Al&H 434,769 0 434,769
OAFE ALY 434,769,000 434,769
= 304,338
AlHI 39,130
24| 91,301
03 Al& 2 CH| 3,153 0 3,153
OAFEEAR! AlE 2T 3,153,0002 3,153
= 2,207
AlHI 283
24| 663
AMEE XM 759,556 0 759,556
= 531,689
AlHI 68,360
4l 159,507
401 AlEHI L2 THH] 759,556 0 759,556
= 531,689
AlHI 68,360
2| 159,507
01 Al&H 754,771 0 754,771
OArgrel =a e 754,771,0002 754,771
= 528,340
AlHI 67,929
2| 158,502
03 Al & S CHH| 4,785 0 4,785
OAEY &Rl AIZ20HE 4,785,0002 4,785
= 3,349
AlHI 431
2| 1,005
OOl B2 X4 2,000 2,000 0
206 T 2 4| 2,000 2,000 0
01 X 2H| 2,000 2,000 0
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L BMTED
NP EES
L ahelp)

_ _ _ Muo
SNBSS - MBAY - BES arey e {imE=Eh
Okt & BE52X Y 2,000,000& 2,000
oA DIt =4 1,635,854 1,777,850 A 141,996
= 465,000
= 35,000
Jl 325,000
AlHI 680,000
T Hl 130,854
=R B4 400,854 592,850 A 191,996
= 100,000
= 35,000
AlHI 137,500
-4l 128,354
SMER Y 2& 50,000 44,000 6,000
= 35,000
AlHI 7,500
T Hl 7,500
206 M =4l 50,000 44,000 6,000
= 35,000
AlHI 7,500
el 7,500
01 =4l 50,000 44,000 6,000
O=4SE Y 2& 50,000,000& 50,000
& 35,000
AlHI 7,500
-4l 7,500
Has od RF2Z3H N& 70,000 40,000 30,000
= 35,000
AlHI 35,000
402 212201 ™ 70,000 40,000 30,000
= 35,000
AlHI 35,000
01 BIZtAt=E = 70,000 40,000 30,000
Odd J12H 70,000,000& 70,000
= 35,000
AlHI 35,000
HACCPAI & XI & 130,000 400,000 A 270,000
= 65,000
AlHI 65,000
402 RI2tX=2 01 & 130,000 400,000 A270,000
= 65,000
AlHI 65,000
01 BIZtAt=E = 130,000 400,000 A270,000
O=4t=2 1S3 E HACCPAIE XI&
130,000, 000& 130,000
= 65,000
AlHI 65,000
HEXNEH 22| 101,704 92,650 9,054




SN BREED
M parprel Ol A A
el SMRE B4 (el &2
SN -HH - SA(B) - MRAY - BES 0f Ao giﬂgfﬁ HRs2
201 Yot Y| 101,704 91,850 9,854
01 AR 2t eld| 15,608 14,726 882
OOYNEH gL 8,700
24z 50,0003 »1H*114 5,700
ol A g = 50, 0002 %32 *202 3,000
OZ22X% Is(s5) 140,000& «84H 1,120
OH=g NG (R9 ZF) 80,000& x8H 640
O280g NEHE =4 7,0008*4H 100 2,800
OHgXNEd RAES 2 500,000 500
ool 22 54,0002 * 122 1,848
02 2323l 86,096 77,124 8,972
OxtzHe ST 77,598
S =X 201,819&+22& 4,441
J2=X 27,962
- 2 (28) 26,6202 *9000+ 24 23,967
- R (1) 26,6202 1500+ 24 3,995
SHE2EY &7l 43,0013 *22& 947
75 7Y 44,248
- 3R (2E)
1,760 *9000F & «192A1 2+*0. 125 38,016
- FER(1E)
1,94021 1500421 x96A1 24+0. 125 3,492
- SR (R FHI*6.6%) 2,740,000& 2,740
OZ2R3 2 HAl 7,998
FEMS A= 70,0003 x12& 840
QIHY AIER 38,0603 *12& 457
LS AEE 32,9903+ 12& 396
SH sl 30,0002 * 128 360
I AT 1,700,000& 1,700
Ag2ass ZHY| 4,245,000& 4,245
Ost il |X 500,000& 500
HEEAN = 19,150 7,200 11,950
201 et2Ad| 5,150 5,200 AB0
01 AR 2t eld] 5,150 5,200 AB0
Ogel wswi M 503 *102+1,000% 500
OLMSRMT QYT FE 2,000 3008 600
OFAIHS SHHEXIE |RX2= 3,000,000 3,000
ORIAAMA HMZ 100& * 103 *50004 500
O+MTHBAL HAOLH X 110, 0002 *53 550
203 ¥ =&l 1,000 1,000 0
03 A=A AR =] 1,000 1,000 0
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A M
2
o T

el AT}

AR R B A (crel @2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2

Odf =4t 2431 FRFA 1,000,000& 1,000

307 2IZtol 12,000 0 12,000

04 QIZHHALE 12,000 0 12,000
OotetES SH=EM 2,000,000& 2,000
OZZE=N 10,000, 000& 10,000

308 XXM SO0IA 1,000 1,000 0

08 JIEIRE= 1,000 1,000 0
O280g ¢4=)|2 EX= 1,000,000& 1,000

e 2z X2 30,000 0 30,000
AlHI 30,000

307 2I2toI & 30,000 0 30,000
AlHI 30,000

05 BIZ2tR &= 30,000 0 30,000
Oonsdzr=2Ez XA 30,000,000& 30,000
AlHI 30,000

oferetd &l 1,235,000 1,185,000 50,000
= 365,000
J| 325,000
AlHI 542,500
T Hl 2,500

X H& XM 10,000 0 10,000
= 5,000
AlHI 2,500
-4l 2,500

401 Al EHIZ 2 OHY| 10,000 0 10,000
= 5,000
AlHI 2,500
-4l 2,500

01 Al Hl 10,000 0 10,000
OEXIH& Hel 1,000,000& 10X 10,000
= 5,000
AlHI 2,500
T4l 2,500

Hs2d59 otd Y ot2MYD ALY 900,000 900,000 0
= 360,000
AlHI 540,000

401 Al EHIZ 2O YI 900,000 900,000 0
= 360,000
AlHI 540,000

01 A& HI 894,330 894,330 0

=527 otd Y of2MY I HEALY

894,330,000& 894,330
= 357,732
AlHI 536,598

03 A& 20| 5,670 5,670 0
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=

SETTES.
2 my| (el &
HH . (3 H) - MBEAY - B Ao ggi HRS2
SAdSY ot L SFREMY Ol BIAIE Al
Sy 5,670,000& 5,670
= 2,268
AlH] 3,402
HMEIIZ =A 325,000 250,000 75,000
J| 325,000
307 212+01 A 325,000 250,000 75,000
| 325,000
FE2 325,000 250,000 75,000
MEIIZ +=A 325,000,000 325,000
| 325,000
H AHMXE D) 192,742 190,684 2,058
163,666 169,384 N5,718
SYHI(ZMASDH) 163,666 169,384 ~5,718
ol | 163,666 169,384 N5,718
I HAEZZNE 163,666 169,384 N5,718
o202 44 066
= 1,317,8503 x1H »12& 15,815
a2 10,577
Il
M2 NSIIE 1,922,850 *1H *200% 3,846
m2sg
M2 NSI1= 1,922,850 1 *100% 1,923
- ME el
A= X221FE 1,922,850 x1H *250% 4,808
HMG 2,820
-IEY 40,000& x1H*12& 480
-Ex2H 125,000& x 1 128 1,500
- AAEASE 70,000& x1H «12& 840
- FelF= M| 7,228
- H gAY 160,000& » 1« 12& 1,920
- JIAHIE 2 H| 110,000& x1H =12 1,320
- WS 2xH| 140,000& x 1H = 12& 1,680
- @E SO
M2 XNSI1E=E 1,922,850 1 *120% 2,308
ZW2RLY 5,651
-5U2RY
SEMNAZ 2,072,850 x12 +8/226 Al 2tx150 3,963
%x3U x 128
-SRI Y
SAAZ2 2,072,850 x1H %8/226 Al 2F*23 1,688
2
JlEt=< 1,800
- | M| 100,000& = 1H = 12& 1,200
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A IS
M wEeAAY (FHUED)
el elE 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
- HEIS A 50,000 x1E*12& 600
- 4L= 175
- &Y= 70,000 *1& 70
- QH& B} 50,000 1 50
-2% 10,000& 1 10
- get= 35,0002 *1& 35
- 29 10,0002 *1& 10
Otz 2ed 119,600
Jl2a 1,157,800& »3H 123 41,681
A= 26,738
-Jg=g
H0=3 NSIE 1,764,450 »3E x200% 10,587
-mag
a0=a NSIIE 971,670 *3F x100% 2,916
- M= Ee
S0z XSIIE 1,764,600 «3F 250% 13,235
Hougg 9,180
- IIESE (R 40,000 «2H * 128 960
- pESY (M) 20,0003 x5 =128 1,200
-ExgR2sE 125,000& «3x 12 4,500
- Mg 70,000 x3E *12& 2,520
- Sl 24| 20,097
- MG A 160,000& 3E x12& 5,760
- JHAIE &4 110,000 «32 »12& 3,960
- WS E X 140,000% x3H *12& 5,040
- SEF0H
&0z XSIIE 1,482,300& 3 «120% 5,337
T RE 15,866
-REI2RFE
1,915,320 3 x8/226 Al 2+ 150%* 3L 12 10,984
E=!
-HREsItEE
S U3 1,915,320 x3H «8/226 Al 2tx150 4,882
%bx 16
- JIEt =g 5,606
- Al 100,000 «3EH »12& 3,600
- CH2I S At 50,0003 «32 =12 1,800
- AEsH 22 206
st 51,4002 x 12 #43] 206
S I= 432
- &Y= 70,0002 «3&H 210
- ot& B} 23,0002 *3& 69
-2x 6,000% »3H 18
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